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~~ PART-A
_ (QUESTIONS 1-5) |
Answer any Four questions. Each question carries 1 mark.  (4x1=4)
If A is a square matrix of order 3 and rank 2, then find |A|
If A is an Orthogonal matrix, then show that A'=A".
Write the n derivative of cos(ax+b)
. Define equivalent matrices
State Lagrange’s mean value theorem.
PART-B
(QUESTIONS 6-15)
Answer any Seven questions . Each question carries 2 marks.(7x2= 14)
6. Solve 3x-y=7
Sx+3y=7 using determinants

Show that the transformation

Y, =2X, +X,+X,

Y, =X, +X,+2X,

Yg=X,=2X; s regular.

8. Find the n® derivative of .’i_ig’%f_s
: X+
9.7 If y=e*sinbx, prove that y,~2ay,+(a?+b?)y=0

: 10. Verify Rolle’s theorem for the function f(x)=x2-3x+2 ih [1, 2].
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11.
12.
1 3.

14,
15.

16.

17.
18.

19.

20.
21.

1-cosx
sinx

Write the working procedu're to fit the' line y=a+bx+cx? to a given data.

Evaluate lim,,

If x2+y2= d

: smx _1
Evaluate im, ( ]

State Leibnitz’s theorem, for n" derivative.

PART-C .
(Questions 16-22)

‘Answer any Four Questions. Each question carries 3 ‘marks. (4x3=12)

Show that the vectors (2,1 1) (2,0,-1) and (4, 2, 1) are |mearly
independent.

Find the nth derivative of e*sinxcosx.

: {3 2 4
Using partition method, find the inverse of Eld :
. R I 35
: : tanx-sinx
Evaluate llm""°_x—3—
s iy tanx
Evaluate lim,__,sinx™"".

If R is the resistance to maintain a train at speed V, find a law of the type
R=a+bV? connecting R and V, using the following data:

V(miles/hour) |10 | 20 30 40 50

R(lb/ton) 8 0115 | 2] 30

22.

Verify Cauchys Mean value theorem for the functions e* and e |n the
interval (a, b)



23.

24,

-

26.
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PART-D
~ (Questions 23-26)
Answer any Two guestions. Each question carries 5 marks (2x5_10)

oy =gy show that (1-®)y_— (2n+1)xy,_,

- (n2+a2)yn'=o

Using Maclaurin’s series, expand tanx Upto term containing X°.

1.2 3 2
& 3-8
1

e J to normal form and hence find its rank.

Reduce the matrix {

Fit a second degree 'parabola to the following data:

x_| 1989 11990/1991 | 1992 | 1993| 1994 | 1995 | 1996 |1997

y | 352 |356 | 357 358 | 360 | 361 | 361 | 360 | 359




